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Chapter : Trigonometry

1) Sec 45 + Tan 30 =
SCCGL-22AUG-S2 : 69
(@) (V6 + 1)/3

(©) (V3 + 2)/N3

(b) (1 + V3)/2
(d) 5/3

(2) If Cos 8 = 5/13, then Cosec 6 = ?
Ife; Cos © = 5/13, @ Cosec 6 = ?
SCCGL-22AUG-S2 : 71
(@) 5/12 (b) 12/5

(d) 13/12

(c) 13/5

(3) What is the simplified value of sin?(90 — 8) —
[{sin(90 - B)sin 6}/tan 0]
sin*(90 — 6) — [{sin(90 — B)sin B}/tan 6] T FIelehd HIeT
FATE?
SCCGL-08AUG-S2 : 69
(@1 (b) cosec 6 (0

(d) cos 6

(4)

What is the simplified value of

- " 5 2
cos“®  sin“@ p
|1+sin6® 1+cos® j

cos? 0

" 2
s'"ze}a:rmmm%?

| s
|1+sin@ 1+cos®

SCCGL-08AUG-S2:70
(@) sin®
(©) 1+ sin 26

(b) 1--sin 26
(d) 1--sinB

(5) If 5 sec 8 — 3 tan 6 = 5, then what is the value of 5
tan 6 — 3 sec 6?

gfE5sec -3 tan® =5, A5 tan 6 — 3 sec 6 &1 AT
FIT BIAM?
SCCGL-08AUG-S2 : 71
@) 1 (b) 2 3
(d) 4

(6) If sec2 @ + tan2 © = 5/3, then what is the value of

tan 267

Ife sec: © + tan: 0 = 5/3, AT tan 20 T AT FIT IAMM?
SCCGL-08AUG-S3 : 69

(a) 23 (b) V3

(c) 1/¥3 (d) Cannot be determined3Td =T&T fohar ST
Hehdl

(7) A tower is broken at a point P above the ground.
The top of the tower makes an angle 60° with the
ground at Q. From another point R on the opposite
side of Q angle of elevation of point P is 30°. If QR =
180 m, then what is the total height (in metres) of the
tower?

Teh HIeAR, Heled A 9 84T g P & ge g | #aR

1 SO RT feig Q UX #eTeT & | 60° T 0T STl & |
foig Q & fAuR feram & e foig R @ feig P o1 3eerarat

10T 30° ¥1 AT QR = 180 #eX &, Al AR 1 ool FTS
(FreT #) fohceir g2

SCCGL-08AUG-S3 : 70

(a) 90 (b) 45V3 (c) 45(\N3 + 1)
+2)

(d) 45(+3

(8) If sin @ + sin 58 = sin 36 and 0 < 6 < (r/2), then
what is the value of 6 (in degrees)?

IfE sin @ + sin 56 = sin 36 AT0 < B < (/2), AT 6 I
At (33l 7) ¥ am g
SCCGL-08AUG-S3 : 71
(@) 30 (b) 45
of these

(c)60 (d) None

(9) What is the simplified value of (cos A + sin A)(cot A
+ tan A)?

(cos A + sin A)(cot A + tan A) 3T EXellehel HIeT T &7
SCCGL-10AUG-S1: 69
(a) sec A + cosec A

(c) tan A + cot A

(b) sin A + cos A
(d) sec A—cosec A

(10)
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[ cosec A cosec A

What is the simplified value of

| cosec A cosec A
\]cosecA—1 cosec A +1
SCCGL-10AUG-S1:70
(a) V2 sec A (b) V2 cosec A
(c) sec2 A (d) 2 sec A

T TIAGT AT AT E?

(11) If 2 cos 8 = 2 — sin B, then what is the value of cos
0?

gfE 2 cos 8 = 2 — sin 6, AY cos 6 =T AT FAT BIIM?
SCCGL-10AUG-S1 : 71
(@) 1or3/5
(¢)-1or-1/2

(b) 1or-1/2
(d) -1 or 3/5

(12) What is the value of Cot 60- - Cos 45-?
Cot 60- - Cos 45 T HTT T §7
SCCGL-21AUG-S3 : 69
(a) (9 - 2v3)/9

() (1-2v3)/2

(b) (V2 - \3)/V6
(d) (V2 - \3)/\6

(13) If Tan 8 = 9/40, then Sec 6 = ?
gfe Tan 6 = 9/40, AT Sec 6 = ?
SCCGL-21AUG-S3 : 71
(a) 40/41 (b) 9/41

(d) 41/9

(c) 41/40

(14) What is the value of [1/(1 — tan 8)] — [1/(1 + tan

0)]?

[1/(1 = tan ©)] = [1/(1 + tan ©)] ST AT FAT &?

SCCGL-11AUG-S3 : 69

(@) tan 6 (b) cot 26
(d) cot®

(c) tan 26

(15) If tan © + cot B = x, then what is the value of

tan? 0 + cot? 7

gfdtan 6 + cot B = x &, AT tan2 6 + cot? 6 T AT FAT &7
SCCGL-11AUG-S3:70
@ (x> =3y +2

() x(x—4)+2

(b) 0 —-2x) + 4
(d) X3(x*—4) + 2

(16) If tan? 8 + cot? B = 2, then what is the value of 2«
caseca?
TG tan? 6 + cot? 8 = 2 §, Al 2wconcs ST HTeT FAT GIIM?
SCCGL-11AUG-S3 : 71
(@0 (b) 1 (€2

(d) 4

(17) What is the simplified value of tan (6/2) + cot
(6/2)?

\JcosecA—1‘cosecAo1 '

?
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tan (6/2) + cot (6/2) T HTcAhel HIeT FT g7
SCCGL-05AUG-S3 : 69

(@) 2 cosec © (b) 2 sec®

(¢)sin® (d) cosec ©

(18) What is the simplified value of [(sec®x —
tan3x)/(sec x — tan x)] — 2 tanx — sec x tan x?
[(sec® x — tan®x)/(sec x — tan x)] — 2 tan?x — sec x tan x
T EAhl HIeT T 87
SCCGL-05AUG-S3 : 70
(-1
(d) 1

(19)If sin® 8 + cos® 8 -1 = 0, then what is the value of
cos? 8 sin? 0 (If 6 # 0 or /2)?
IfEsin® 6 + cos®6—1 = 08, dl cos? 0 sin? © &T AT
FAT (TS 6 # 0 AT 11/2)?
SCCGL-05AUG-S3 : 71
(@-1 o (91

(d) 2

(20) What is the simplified value of sec: 6 — sec: &
tan: 67

sect © — sec: B tan: © T TXcllhd HIeT FT 67
SCCGL-10AUG-S2 : 69

(a) cosec: B (b) sec: ©

(c) cot2 @ (d) sec6tan 6

(21) What is the simplified value of (sin A - cosec
A)(sec A—cos A) (tan A + cot A)?
(sin A — cosec A)(sec A —cos A) (tan A + cot A) &T
Tl HIeT &7 82
SCCGL-10AUG-S2: 70
(b) -1 (0
(d)2

(22) If (1/cos B) — (1/cot B) = 1/P, then what is the
value of cos 67

e (1/cos 6) — (1/cot ) = 1/P, AY cos 6 T ATT FAT
grem?
SCCGL-10AUG-S2 : 71
(@ (P +1)/(P-1)

(c) 2(P- + 1)/P

(b) (P + 1)/2P
(d) 2P/(P: + 1)

(23) What is the simplified value of cosect A — cots A —
3 cosec: A cotz A?

cosecs A — cote A — 3 cosec: A cot> A Wmﬂ_ﬁmﬂ
FATE?
SCCGL-10AUG-S3 : 69
(a) -2 (b) -1
(d) 1
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(24)
f ser_ A A
c A A

What is the simplified value of
2 AL o] YRl d T Rl %?

1.4 secA+1

SCCGL-10AUG-S3 : 70
(a) cosec A—cot A
(c)sec2 A

(b) sec A—tan A
(d) sec A cosec A

(25) If tan A = 1/2 and tan B = 1/3, then what is the
value of tan (2A + B)?
Ife tan A = 1/2 9T tan B = 1/3, AT tan (2A + B) T AT
FIT gIRI?
SCCGL-10AUG-S3 : 71
(@5
(d)9

(26) What is the simplified value of [2/(cot A — tan
A)?

[2/(cot A — tan A)] FT BRelIshd HIeT FIT &7
SCCGL-12AUG-S3 : 69

(@) sin A cos A (b) tan 2A (c) tanz A

cosz A

27

|casec A-1 5

What is the simplified velue of qm :

jeosec it el A T 3 2

\'I cosec A+1
SCCGL-12AUG-S3:70
(a) cosec A (b) sec A—tan A
(c) cosec 2A (d) tan A — cosec A

(28) What is the simplified value of (sect A —tanz A) —
(tan* A + secc A)?

(sect A—tanz A) —
g
SCCGL-12AUG-S3 : 71

(@ -1 (b) -1/2

(tan* A + secz A)

T TR ATl FIT

(© 0
(d) 1

(29) What is the value of Tan 45° + 4/4/3 Sec 60°?
Tan 45° + 4/v3 Sec 60° ST AT T &7
SCCGL-17AUG-S1 : 69
(@) (V3 + 8)/\3

(c) (V3 - 8)/\3

(b) (V3 + 8)/3
(d) (3 - 8)/3

(30) If Sin 8 = 20/29, then what is the value of Cos 6?
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Ife Sin 8 = 20/29, AT Cos 6 T HTT FIT IAMT?

SCCGL-17AUG-S1: 71

(a) 29/21 (b) 21/29
(d) 20/29

(c) 21/20

(31) What is the simplified value of cosec 2A + cot 2A?
cosec 2A + cot 2A T el Aol FT 87
SCCGL-09AUG-S1: 69

(a) sec A (b) sec (A/2)

(c) cot A (d) cot2 A

(32) If A = 30° B = 60° and C = 135°, then what is the
value of sincA + cos:B + tan:C — 3sin A cos B tan C?
& A=30° B =60° 4T C = 135° §, T sin3A + cos3B +
tan3C — 3sin A cos B tan C &T HIeT FT 81917
SCCGL-09AUG-S1:70
(@0 (b) 1 (08

(d)9

(33) What is the least value of tan 6 + cot?6 + sin2 0 +
cos? O + sec: B + cosec: 67
tan2 @ + cot © + sin? B + cos? B + secz O + cosec: O T
TATH HI T 57
SCCGL-09AUG-S1: 71
(b) 3 (©5
(d)7

(34) What is the simplified value of (sec A + cos A)(sec
A —cos A)?

(sec A + cos A)(sec A—cos A) WWWW%?
SCCGL-09AUG-S2 : 69
(@) 2 tanc A

(c) sicc Atan: A

(b) 2 sine A
(d) sine A + tane A

35)

casec A )2?

What is simplified value of (

cot A+ftan A
cosec A 2 3
it i S HQQ_rf ?ﬂ O 7
(carA+tcm A) aﬂ ' EF:ITE} ’

SCCGL-09AUG-S2: 70

(a) 2cos: A (b) 1-sinz A
(c) secz A(d) secA tanA

(36)
What is the S|mpllf|e|d value of A e sf:m

otA 1= ranA
1-cotA l—tanA sin2A

AR gaa Iﬂ:{ EUINS
SCCGL-09AUG-S2 : 71

(@) -1 (b)0 (c) 1
(d) 2

tan A cotA
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(37) The measure of the four successive angles of a
quadrilateral are in the ratio 7: 11:7:11. The
quadrilateralisa _____

Teh TSIl & 4 HAFTA HIVT BT AT 7:11:7: 115
U AT UG TH B
SCCGL-11AUG-S1 : 53

(a) trapezium / HHFS

3mad

(c) parallelogram / Wﬂ?ﬁiﬁ (d) square / @ar

(b) rectangle /

(38) What is the simplified value of [(tan: 6 —
sinz @)/tan  sinz 8]?
[(tan: © - sin: 8)/tan: 8 sin: 6] T ANl HIeT FIT&?
SCCGL-11AUG-S1: 69
(1
(d)2

(39) If sec (3x — 20°) = cosec (3y + 20°), then what is
the value of tan (x + y)?
e sec (3x — 20°) = cosec (3y + 20°), AT tan (X + y) T
AT FAT§?
SCCGL-11AUG-S1:70
(@) 1 (b) \3 (©) 143

(d) 23

(40) If cot A =n/(n + 1) and cot B = 1/(2n + 1), then
what is the value of cot (A + B)?
Ife cot A =n/(n + 1) TAT cot B = 1/(2n + 1), df cot (A +
B) &T HIeT T &7
SCCGL-11AUG-S1 : 71
(@-1 (b) 0 ()1

(d)2

(41) What is the simplified value of (1- sin A cos A)(sin
A + cos A)?

(1-sin A cos A)(sin A + cos A) 3T EXellehel HIeT T &7
SCCGL-11AUG-S2 : 69

(@) sine A—cosz A (b) sin® A + cos* A

(€0 (d) cos: A—sinz A

42)
What is the simplified of

1-sin A ?
1+sind

1-sin A =
\ 1+sinA Ll %
SCCGL-11AUG-S2: 70

(a) tan A (b) sec A
(c) sec A + tan A (d) sec A-tan A

(43)
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—
What is the simplified of the value of | —= L=
\ sin® A cos< A
s 5 =
| 1 1 W = 3
\} sin:A+ coszAaﬂ m:fa?ﬂ_é
SCCGL-11AUG-S2 : 71
(a) sin A cos A (b) tan A + cot A

(c) sin 2A (d) tan A cot A

(44) What is the value of sin (-/3) + cos(-n/6)?
sin (-1/3) + cos(-m/6) T AT FT &7
SCCGL-12AUG-S1: 69
(@0 (b) 1 (c)2

(d) 3

(45) If 8 is acute angle and tan 6 — cot 6 = 0, then what
is the value of tan= 6 + cot~ 6?

e © Ueh #FeAehI0T § TUTtan 6 — cot 6 = 0, @l tan= 6 +
cotre § ST HIeT FIT GIaM?
SCCGL-12AUG-S1: 70
(@-2 (b) 0 (© 1
(d) 2

(46) If sin 308 sec 26 = 1, then what is the value of [3
tan (568/2) — 11?
SCCGL-12AUG-S1: 71
(@0 (b) 1 (©2
(d3

(47) What is the simplified value of (cosec A + sin
A)(cosec A —sin A)?

(cosec A + sin A)(cosec A —sin A) WWWW
g

SCCGL-12AUG-S2 : 69
(a) cosA + cot A

(c) 2 cotz A

(b) 2 cosz A
(d) 2 cos A cot A

(48)

1 sec A secd
What is the simplified value of |' ———+ ?
ecA—1 secA+1

Ii
| secd sec A Wﬂﬁﬁﬂﬁfﬂ—[ 2
\|| secA—1 sec.tl+1 %

SCCGL-12AUG-S2 : 70
(a) cosec A (b) V2 cosec A
(c) 2 sec’A (d) sec A

(49)

cosA | sinA ]2?
(1-tan4) (1-cot4)

What is the simplifield value of [

cos A sinAd
: CARING PAdHH TR ?
[(l—tanAl (1- cotAl] _g
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SCCGL-12AUG-S2 : 71
(@) sin A + cos A
(€)1 + cos 2A

(b) 1 + sin 2A
(d) tan A + cot A

(50) _
What is the simplified value of (—4—3)?
cot;than—2

(;)WWWW%?

A
co t§+ tan_:

SCCGL-09AUG-S3 : 69
(@) sin A (b) cos A/2
(c) cos2 A (d)2sin A/2

(57
What is the simplified value of ( -

(ocarians)” 1 SRClipd W F1E 2

SCCGL-09AUG-S3 :70
(@) sec A + tan A
(©) (1 =sin A)/(1 + sin A)

(b) sin A cos A
(d) (1 =cos A)/(1 + cos A)

(52) What is the simplified value of (cosect A — cot: A)
— (cot+ A + cosecz A)?

SCCGL-09AUG-S3 : 71
(@0 (b) 5 ()6

(d)9

(53) A boat is sailing towards a lighthouse of height
203 m at a certain speed. The angle of elevation of
the top of the lighthouse changes from 30° to 60° in
10 seconds. What is the time taken (in seconds) by the
boat to reach the lighthouse from its initial position?
Teh o119 U farrifad a1fad & 20V3 e fr ara & Sarg
Tl Teh ATSC GI3H I oT% ST V61 ¢ | oITSe §I3H o S
R A FT 3dTHsT HIUT 10 JhUTS H 30° T 60° H
aRafela 81 STar 81 31der YR HATH @ 1S 813 T
q@ﬁﬁmmﬁmmm(mﬁ) [ERCIEL
SCCGL-16AUG-S1 : 69
(a) 10 (b) 15 (0) 20
(d) 60

(54) What is the value of [sec 8/(sec 8 —1] + [sec 8/(sec
0+ 1]7?

[sec B/(sec 6 — 1)] + [sec B/(sec 6 + 1)] T AT AT &7
SCCGL-16AUG-S1:70
(@) 2 sin2 @

(c) 2 cosec ©

(b) 2(1 + tanz8)
(d) sinz 0

(55) What is the simplified value of secs A—tanc A-3
secc Atan: A?

secA+tan A

)
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sec: A - tan A - 3 sec: A tan: A 3T TXellhc HIel FATE ?
SCCGL-16AUG-S2 : 69
(@) -1 (b) 0
tan A

(1 (d) sec A

(56) What is the simplified value of (cosec A —sin
A)(sec A — cos A)(tan A + cot A)?
(cosec A —sin A)(sec A — cos A)(tan A + cot A) T
Tl AT FTE ?
SCCGL-16AUG-S2: 70
(1
(d)2

(57) What is the simplified value of (cos4 A —sind A)?

(cos4 A - sin4 A) T el HIeT FATE ?

SCCGL-16AUG-S2 : 71

@a~o (b) 2 cos2 A
(d) 1

(c) cos 2A

(58) If cosec: @ = 625/576, then what is the value of
[(sin 8 — cos 8)/(sin 6 + cos 8)]?
e cosec: @ = 625/576, r [(sin 6 — cos B)/(sin B + cos
8)] ST AT HAT gHaM?
SCCGL-16AUG-S3 : 69
(@1 (b) 31/17

(d) 14/25

(39)

What is the value ofE( ,
2 \sin51
3

) (—‘:“ :‘g)—\fsm?-sg +sin? 51 PIAFA G ?

2 \sin51
SCCGL-16AUG-S3 : 70
@Y (b)5/2

5/2

cos 39 s . _
L)—\ismz?ﬁ) +sin? 517

(©0 (d) Both 1/2 and

(60) If cot A = [sin B/(1 — cos B)], then what is the

value of cot 2A?

& cot A = [sin B/(1 — cos B)], T cot 2A 3T HTeT HT

gram?

SCCGL-16AUG-S3 : 71

(a) cosec B (b) cot 2B
(d)tan B

(c) cot B

(61) What is the value of Tan 60° + Cosec 60°?
Tan 60° + cosec 60° 3T AT HAT §?
SCCGL-17AUG-S2 : 69

(a) 5/3 (b) 2/~3 (c) 5/\3
(d)2/3

(62) If Cosec 8 = 17/8, then what is the value of Cos 6?
Ifg Cosec 6 = 17/8 &, AY cos B T HTeT HAT &7
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SCCGL-17AUG-S2 : 71
(a) 15/8 (b) 15/17 (c) 8/15
(d) 17/15

(63) What is the value of (1/v2) Cot 45° + (1/43) Cosec
60°?

(1/42) Cot 45° + (1/+3) Cosec 60°? T HTeT T EIIM?
SCCGL-17AUG-S3 : 69

(@ (V6 + 1/43) (b) \3

(©) (1 + 3vY2)/\3 (d) 3 + 2v2)/3+2

(64) If Tan 8 = 7/24, then what is the value of Sec 67
Ife Tan 6 = 7/24, @ Sec T HTeT HIAT GIIM?
SCCGL-17AUG-S3 : 71
(a) 24/25 (b) 24/7 (c) 25/7

(d) 25/24

(65) What is the value of V2 Sec 45 - Tan 30-?
2 Sec 45¢ - Tan 30-3T HTel HIT 7
SCCGL-18AUG-S1: 69
(@) (N3 - 1)/3

(© V3 - 1)/\3

(b) (3 - 1)/3
(d) (3-1)/3

(66) AABC is right angled at B. If m 2A = 60°, then
what is the value of 1/3 Cosec C?
AABC, B IR GHRIOT g | A m £A = 60° &, df 1/73
Cosec C T HIeT Td Y|
SCCGL-18AUG-S1:70
(a) 2/43 (b) 2/3 (©) V2/A3

(d) ~2/3

(67) If Cosec 8 = 25/7, then what is the value of Cot
0?
Ife Cosec 6 = 25/7%, @ Cot 8 T HTeT HAT 87
SCCGL-18AUG-S1: 71
(a) 24/25 (b) 7/24 (c) 7/25

(d) 24/7

(68) What is the value of Cot 60° - Sec 30°?

Cot 60° - Sec 30° T HIT HAT GEM?

SCCGL-18AUG-S2 : 69

(@) -1/3 (b) -1/73 () 1/73
(d) 1/3

(69) A ABC is right angled at B. If mzA = 30°. What is
the length (in cm) of AB, if AC = 8 cm?
AABC, B T THBIUT §| Tfe m2A = 30° §, ar AB ¥
TS (AT #) A HaAT, IS AC = 8 AT &7
SCCGL-18AUG-S2:70
(a) 23 (b) 443 (c) 4/73

(d) 2/\3

Free Study Material Join: Telegram.me/ExamsCart

(70) If Cot 8 = 24/7, then what is the value of Sec 8?
Tfg Cot 6 = 24/7, AY Sec 6 T AT HAT §?
SCCGL-18AUG-S2 : 71
(@) 7/25 (b) 25/24 (c) 8/25

(d) 9725

(71) What is the value of V2 Sec 45° + (1/43)Tan 30°?
V2 Sec 45° + (1/4/3)Tan 30° & HTH HIT &7
SCCGL-18AUG-S3 : 69

@) (1 ++3)/2 (b) (1 + 3v2)/¥3

(© 7/3 (d) (3 + 2v2)/32

(72) A XYZ is right angled at Y. If mz£Z = 30°. What is
the length of YZ (in cm), if ZX = 9 cm?
AXYZ, Y REARUT g1 e meZ = 30°F, AT YZHr
FaTS (T H) FATE, A ZX =9 WA 7
SCCGL-18AUG-S3 : 70
(a) 63 (b) 9V3/2 (c) 3V3

(d)18
(73) If Cos 8 = 15/17 , then what is the value of Cosec
0?
Tf& Cos 6 = 15/17, @Y Cosec 6 ST ATl HAT §?
SCCGL-18AUG-S3 : 71
(a) 17/8 (b) 8/17 (c) 8/15

(d) 17/15

(74) What is the value of Sin 30° - V2 Cos 30°?
Sin 30° - V2 Cos 30° T HTeT FHT &7
SCCGL-19AUG-S1 : 69
(@) (1-6)/N2

(© B -V6)/2

(b) (1 -6)/2
(d) 3 - V6)/\2

(75) A XYZ is right angled at Y. If m £Z = 60°. What is
the length (in cm) of YZ, if ZX = 9V3 cm?
AXYZ, Y WHARIUTE| TG m 2Z = 60° §, A YZ &l
FETS (G H) FATE, ARG ZX = 93 WAL &7
SCCGL-19AUG-S1: 70
(a) 3V3 (b) 3%/, (c) 9%/,

(d) V3

(76) If Sec 8 = 13/12, then what is the value of Sin 6?
afe Sec 8 = 13/12,8, &Y Sin 6 HF AT FHAT 7
SCCGL-19AUG-S1: 71
(@) 5/13 (b) 12/5 (c) 12/13

(d) 5/12

(77) What is the value of Sin 60° + (1/2)Cosec 45°?
Sin 60° + (1/2)Cosec 45° T AT HAT §?
SCCGL-19AUG-S2 : 69

(@) (V3 + 2)/2 (b) (V3 + V2)/\2
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(© (V3 + 2)/A2 (d) (V3 + V2)/2
(78) A LMN is right angled at M. If m N = 450. What
is the length (in cm) of MN, if NL = 6v2 cm?
ALMN, M SR GFSIOTE| T m 2 n = 45° §, @Y MN &t
wars (Qe. /) FAr §, IS NL = 642 [ &7
SCCGL-19AUG-S2 : 70
(©2
(d)6

(79) If Cos 8 = 35/37, then what is the value of Cosec
0?
Ife Cos 8 = 35/37 &, T cosec 6 T AT HAT g7
SCCGL-19AUG-S2 : 71
(@) 37/12 (b) 33/12 (c) 35/12

(d) 12/35

(80) What is the value of (1/2) Sec 30° + V2 Tan 60°?
(1/2) Sec 30° + V2 Tan 60° ST AT HAT &7
SCCGL-19AUG-S3 : 69
@@ (1 + 3v2)/43

(€ (V3 +2)

(b) (V3 + 2)/73
(d) (V3 + 2)/2

(81) A DEF is right angled at E. If m«D = 45°, then
what is the value of cosecF X cotD?

A DEF, E T GHMUT S| ATE m 2D = 45° &, aF Cosec F X
cot D T HTT T &7
SCCGL-19AUG-S3 : 70
(@) 142 (b) 2 () Y2
(d) V2

(82) If Sec 8 = 25/24 , then what is the value of Sin 6?
Tfe Sec 8 = 25/24, 4T sin 6 T AT HAT 7
SCCGL-19AUG-S3 : 71
(a) 24/25 (b) 7/25 (c) 24/7

(d) 25/7

(83) What is the value of Sin 30° + Cos 30°?
Sin 30° + Cos 30° T HTeT HAT &7
SCCGL-20AUG-S1 : 69

(@) V6 + 1/43 (b) V3 + 2/3
(€)1 +3/2 (d) 5/3

(84) A ABC is right angled at B. If mzA = 30°., then Sec
C=?
A ABC ¥ B 9T THSIUTE| 3R m2A = 30° &, ar Sec C =
?
SCCGL-20AUG-S1 : 70
(a) Y2 (b) 1/N2 (c)2

(d) 1/43
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(85) If Sin 8 = 12/13, then what is the value of Cot 67
afg Sin @ = 12/13, @ cos 8 T AT HAT §?
SCCGL-20AUG-S1: 71
(@) 13/12 (b) 5/13 (€) 5/12

(d) 13/5

(86) What is the value of Tan 45° - 1/v3 Sec 60°?
Tan 45° - 1/\3 Sec 60° T HTT FT |
SCCGL-20AUG-S2 : 69

(a) 1-2v3/2 (b) V2 - \3/46

(c) 3-2vV3/3 (d) 1-2V2/2

(87) A DEF is right angled at E. If mzD = 30°, what is
the length of DE (in cm), if EF = 633 cm?
A DEF, E R EAHOTY | TG msD = 30°7 §, o DE &
oars (FA) Farg, I EF =63 F AL ?
SCCGL-20AUG-S2 : 70
(a) 18 (b) 123 (c) 183

(d) 12

(88) If Sin 8 = 20/29 , then what is the value of Sec Sin
0?
e Sin 8 = 20/29, Y Sec Sin 6 T ATT FAT g ?
SCCGL-20AUG-S2 : 71
(a) 29/21 (b) 29/20 (c) 21/20

(d) 21/29

(89) What is the value of 2 Sec 45- + Tan 30- ?
2 Sec 45¢ + Tan 30- 3T ATl HAT g7
SCCGL-21AUG-S1 : 69

(@) 26 + 1/\3 (b) V3

(€) 2N2 + 3/6 (d) 9 + 2+3/9

(90) A ABC is right angled at B. If mzA = 60°, then
what is the value of Cot C?

A ABC, B 9T IH®IOT & Tf& mzA = 60°% dF cot C &1
HIeT T gHEM?
SCCGL-21AUG-S1: 70
(a) V2 (b) 1/73 (©) V3
(d) 2/43

(91) If Cosec 8 = 25/7 , then what is the value of Cos
0?
Ife Cosec 8 = 25/7 Y cos O ST HTeT FHAT GIM?
SCCGL-21AUG-S1: 71
(a) 25/24 (b) 7/24 (c) 24/25

(d) 7/25

(92) What is the value of Cot 60° - Sec 45°?
Cot 60° - Sec 45° T AT AT &7
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SCCGL-21AUG-S2 : 69
@) V2 - V1/6
(©) 1-2v2/2

(b) V3 - 3v2/3
(d)1-+1/2

(93) A ABC is right angled at B. If mzA = 30, what is
the length of AB (in cm), if AC = 10 cm?
AABC, B TR @HBIUT & | T mzA = 30° &, AT AB &7
diaTs (T H) FATE, TG AC = 10 Y. B2
SCCGL-21AUG-S2 : 70
@5 (b) 53 (©)10V3
(d)10
(94) If Cot 8 = 24/7, thenSin©6 =?
e Cot 0 = 24/7 AT Sin6 = ?
SCCGL-21AUG-S2 : 71
(a) 24/25 (b) 8/25 (c) 7/25
(d) 9/25

(95) What is the value of Sec 30° + Tan 60°?
Sec 30° + Tan 60° 3T HTeT HAT &?
SCCGL-22AUG-S1 : 69

(a) 5/\3 (b) V6 + 1/3

(© V3 + 2/7\3 (d) 1 +3/2

(96) A PQR is right angled at Q. If #R = 30° then what
is the value of Cot P?
APQR I Q WM HARIUT &1 TT 2R = 30° &, A Cot P &1
AT HAT 67
SCCGL-22AUG-S1:70
(@) 2 (b) 142 (© 113

(d) 2

(97) If Sec 6 = 5/3, then what is the value of Cosec 6?
e Sec 8 = 5/3, A Cosec B T AT HAT §?
SCCGL-22AUG-S1: 71
(@) 0.8 (b) 1.25 (c) 4/3

(d) 3/4

(98) What is the value of Sin 30° - Cosec 45°?
Sin 30° - Cosec 45¢ &T HIT T &7
SCCGL-22AUG-S3 : 69
(@) (V6 - 1)/V3

(©) (V2 -\3)/V 6

(b) (1 - 243)/2
(d) (1 -2v2)/2

(99) A LMN is right angled at M. If mzN = 45°, what is
the length of MN (in cm), if NL = 9v2 cm?
A LMN, M WX GHPIUT§| TfE mzN = 45° §, ar MN &7
dars (XA /) Fr g, IS NL = 92 A &2
SCCGL-22AUG-S3 : 70
(a) 9V2 (b) 9/V2 (c) 18

(d)9

Free Study Material Join: Telegram.me/ExamsCart

(100) If Cos 8 = 35/37, then what is the value of Cot
0?
7 Cos 6 = 35/37, AT Cot © 3T AT T &7
SCCGL-22AUG-S3 : 71
(a) 12/35 (b) 35/12 (c) 37/12

(d) 12/37

(101) Tan 45° + Cosec 60° =

Tan 45° + Cosec 60° =
SCCGL-23AUG-S1: 69

@@ (1+2v2)/2 (b) (V3 + 2)/\6
() (5/\3) (d) (3 + 2v3)/3

(102) AXYZ is right angled at Y. If mzZ = 60°, then
Cosec X =
AXYZ, Y R AR | T m2Z = 60° &, aF Cosec X =
SCCGL-23AUG-S1:70
(@) 2 (b) 1/2 (© 12

(d) 173

(103) If Cosec 8 = 17/8, then Cot 8 = ?

Ife Cosec 6 = 17/8, A Cot 6 = ?

SCCGL-23AUG-S1: 71

(@) 17/8 (b) 15/8 (c) 8/15
(d) 17/15

(104) What is the value of Sin 30° + 2 Cos 30 ?
Sin 30 + 2 Cos 30 &T HIT AT §?
SCCGL-23AUG-S2 : 69
(@) V2 + 3)/6 (b) (9 + 2v3)/9
() (1 + 2V3)/2 (d) (2V6 + 1)V 3
(105) A XYZ is right angled at Y. If £Z = 60°, what is
the length of YZ (in cm), if ZX = 3V3 cm?
AXYZ, Y RWIARITE| I 27 = 60° §, A YZ Fr ofaTs
@ /) Farg, afg zx =33 aA &2
SCCGL-23AUG-S2 : 70
(a) 3V3/2 (b) 343 ©9

(d)6

(106) If Sec 8 = 13/12, then Cot 8 = ?

gfg Sec 6 = 13/12, AT Cot 6 = ?

SCCGL-23AUG-S2: 71

(a) 12/5 (b) 13/5 (c) 5/13
(d) 5/12

(107) What is the value of Cot 45° + 1/3 Cosec 60-?
Cot 45¢ + 1/3 Cosec 60- T HIeT FIAT §7
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SCCGL-23AUG-S3 : 69
a)V3 +2 (b) (9 + 2v3)/9
(©) V3 (d) 2V 2 + 3)/\6

(108) A DEF is right angled at E. If mzF = 45, then
what is the value of Sin F x Tan F?

A DEF, E W GHMUT | TfE msF =458, A SinFx Tan F
T AT T BI31M?
SCCGL-23AUG-S3 : 70

(@) V2 (b) 173 (©) 1/72
(d) 2/73

(109) If Cot 8 = 21/20, then what is the value of Sec 6?

Ife Cot 8 = 21/20, AY Sec 6 T ATeT FIT GIMT?

SCCGL-23AUG-S3 : 71

(a) 29/21 (b) 21/29
(d) 20/29

(c) 29/20

(110)
What is the simplified value of

cotB+tanA 3

SCCGL-05AUG-S1: 69
(a) tan B cot A
(c)tan AtanB

r_‘ﬂtA+tsnB

(b) tan A cot B
(d) cot A cot B

(111)
what is the simplified value of(

%)_ ?
cosec A+cotd

(o) FTdpa A S

SCCGL-05AUG-S1:70

(a) sec A + tan A

+ cos A)

(c) (1 —cosec A)/(1 + cosec A)

(b) (1 = cos A)/(1
(d) sin A

(112) If cos2 8 —sin 8 =
sin 6?

7 cos2 8 — sin 8 = Y4, AY sin © T AT FAT BIIT?
SCCGL-05AUG-S1: 71
(a) -1 (b) ¥2

Y4, then what is the value of

©) 1
(d)3/2

(113) What is the value of Cot 45° - (1/v3)Cosec 60°?

Cot 45° - (1/V3)Cosec 60° T HTeT FIT &7

SCCGL-06AUG-S1: 69

(@) 1/V3 (b) Y2
(d)1/3

(€) 1/N 2

(114) A DEF is right angled at E. If m£F = 45°, then
what is the value of 2 Sin F x Cot F?

cat A+tan B
otE+tand

3
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A DEF E W GHMUT | TfE msF = 45°§, @V 2 Sin F x
Cot F T HTeT T &7
SCCGL-06AUG-S1 : 70
(a) V2 (b) 2 (© 1 /2
(d) 1/2

(115) If Cot ® = 21/20, then what is the value of Cosec

0?

fg Cot 6 = 21/20 &, A Cosec 6 T HIeT FT §7

SCCGL-06AUG-S1: 71

(@) 21/29 (b) 29/21
(d) 29/20

(c) 20/29

(116) What is the value of tan 6° tan 36° tan 84° tan
54° tan 45°?

tan 6° tan 36° tan 84° tan 54° tan 45° T HTeT T &7
SCCGL-06AUG-S1:74

(a) ¥ (b) 1/ 2 (1
(d)1/3

(117) What is the value of 1/42 Cot 30° + 1/3 Cosec
60°?

1/2 Cot 30° + 1/3 Cosec 60° &T AT FIT &7
SCCGL-06AUG-S3 : 69
(@) B3 + 2v2)/32
2\2)/32

() (3V3 + 2V2)/\2

) (3V3 -
(d) 3V3 - 2V2)/\2

(118) A ABC is right angled at B. If mz£A = 60°, then
what is the value of 2 Sec C x 1/2 Sin A?

A ABC B T THFIUT§| T mzA = 60° &, @ 2 Sec C x
1/2 Sin A T AT FIT I9TT?
SCCGL-06AUG-S3 : 70
@) ¥ (b) 1/3 ©1
d 12

(119) If Tan 6 = 7/24, then what is the value of Cosec

0?

Ife Tan 6 = 7/24 &, At Cosec 6 ST HTT FAT g7

SCCGL-06AUG-S3 : 71

(a) 25/24 (b) 25/7
(d) 24/25

(c) 24/7

(120)
gin2 A
+cos2 4

What is the simplified value of —7

sm ZA
ﬂ?ﬁlgﬁﬂ O ?
1+cos2 A a?:ﬂ- %
SCCGL-08AUG-S1: 69

(a) tan A (b) cot A
(d) cos A

(c) sin A
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(121)
What is the simplified value of (L)Z ?

cotd+tand

secA 2 W = .
(cotA+tanA) aﬂ Iﬂ?fa?ﬂ% ?
SCCGL-08AUG-S1:70
(@) 1-cosA (b) 2sincA (c) sec (d)
cosec:A

(122) What is the simplified value of 1 + tan A tan
(A/2)?
1 + tan A tan (A/2) Hmlﬁmw%’?
SCCGL-08AUG-S1: 71
(@) sin A/2 (b) cos A (c) sec A

(d) sin A

ON[O|A|[mO|® (> A|O(>P|W|O[A|®W
W(E[(B>I>POOA[>PA|P(®|W|O(T[N
@[> |O(>(>|(E|>OoAa>IN]jwao(Aa[N

(123) What is the value of Cot 45° + Cosec 60°?
Cot 45° + Cosec 60° T HTeT FIT &7
SCCGL-20AUG-S3 : 69

(@) (V6 + 1)/73 (b) (1 +V3)/2

() 5/\3 (d) (V3 + 2)/43

(124) A LMN is right angled at M. If m«N = 600., then
TanlL = .
ALMN I M I FHARIOT & | &g msN = 600 &, @l Tan L

= | Solution
SCCGL-20AUG-S3 : 70 )]
(a) ¥ (b) 1N 3 (©) 1/\2

@2 sec 45° 4+ Tan 30°
=74 L _yB+1
(125) If Tan 8 = 4/3, then what is the value of Sin 8? L V3 V3
Ife Tan 6 = 4/3, AT Sin 8 &7 A FAT 8?2
SCCGL-20AUG-S3 : 71 2)
(@) 1.25 (b) 0.8 (c)4/3 b

(d) cosf=>="2

12 h
f

B:=4/(13)% — {5)%

=\144=12

W i3
CosecB=—-=—
D 12

3)

=c05%6- cos%0
=0

4)

N(mAa|n[m[w|Oo[>|[w|[>
>(O(0|>|[w|[O|>|W|[O0]|O
wwnunUUn>g
®[(>O/O|>[>[O[O>|®
>O[P|m|m[m[wm[C[>[N
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tan60°=PA/AQ

cos®8  sin8 ::(1_51115'[1 —cos )
(:

+gin # 1+ coséd
After solving [cos 8 — sin 8] root3=

=1-2sinB.cosB = 1-sin"B PA/AQ
AQ=PA/\3....(2)

(5)
5sec6 -3tan0 =5

25sec2® + 9 tan2 6 — 30 secO.tand = 25 (1)
1/V3(AQ+180)=PA

putting this value in equation

- (i)

Sec5tan 6 =3 secB =x
=25tan20 + 9sec20 - 30 secBtan 6 = xz --- 1N3(PA/N3+180)=PA
== (i)

Substranding (i) and (ii) PA/3+1800/\3=PA
25 (sec2@—tan2B) + 9 (tan2 6 —sec2B) = 25 - x
=25-9=25-x

X=9,x=3 ~5tan0-3secH=3

PA=453

in triangle PAQ,
sin60=PA/PQ
\3/3=45v3/PQ
PQ=90
PB=PQ=90

therefore, AB=90+45vV3=45(2+3)

8

sinx+sin5x=sin3x
2sin((6x)/2)cos(4x/2)=sin3x
2sin3xcos2x=sin3x

cos2x=1/2

F\. cos2x=c0s60°

The height of

tower=PB+PA 2x=60

o x=30°
in triangle

PAR
9)

tan30°=PA/(AQ+180)

1/\3=

PA/(AQ+180)....(1)
in triangle

PAQ
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=X

(cos A + sin A) (cot A + tan A) = tan B+ ——-=

Then
1

tan?9+——=x%2-2
tan?@

4 1 r2 a2
tan B+2‘.an"9_(x 2) 2
=x*+4-4?*-2
=x*—4x* +2
cosec A +secA =X (x2-4)+2

= (COSA + Sin A) (cosA sinA)

sinA cos A

(cos A + sin A) (

cos® A+sin? A)
sinAcos A

_ cosA+sind _
sindcosA

(16)
(10) Puttan8=1, ~cotB=1

I
I| cosec A cosec A ThE‘n, g= 450
yeesec A—l  cosec A+l Sec B. Cosec B = sec 45°, Cosec 45°

[+ : P
|(cosec A+1) cosec A+(cosec A—1) cosec

-.ql (rosec A=1) (rossc A—1)

V2 22 = 2 sec A

cotd

(11) sinf; cosg
2cosB=2-sind r -
2cosB-2=-sinb Lus= sl

(2 cos 6 -2) = (- sin 6): After solving
4cos20+4-8cosB=sin0 7

4c0s°0 +4 +cos20-1-8cos0=0 o = 2cosec O
5cos20-8cos®6+3=0 siné
5cosB(cos0—1)—-3(cosb-1) =0

cos 8 =1,3/5 (18) ' .
sec® x—tan® x
_ 2 1:6[1’12 X —secx.tan i
(12) secx—tanx

Cot 60°-cot45°=1/sq. root3 -1/sq. root 2 After SGh-'iIlg
. t 2-3/6 . -
Q. roo / =gec’ X +tan X + sec X . tan x — 2tan? x — sef} x.1z
(13) =secix—tan’x =1
Tan6=9/40
W.K.T
Sq. sec®=1+sq.tang=1+(81/1600)
=>secq=41/40

(19)

sin @ + cos?0 = 1 (Squaring both sides)

= sin* 8 + cos* 8 = 1 - 2sin? B cos®8 (again squaring)
=>5sin®0 +cos® 0 +2sin*0.cos*8 =1+ 4sin* 6.cos*
8 — 4sin® 6cos® 6

L 1 _ ltrtanf-1ttand _ 2tanf | %9+ cos® @ -1 = 2 sin* B.cos* B — 4 sin? B.cos? O

= 2 - 2a | . .
1-tan @ 1+ tan@ 1-tan* @ 1—tan® @ 0=2sin*0.cos*0—4sin26 cos? O

(14)

sim?6 cos? 8 =2
(15)

(22)
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1 1. . o

cose_cote _p
SecO—-tan 6 =1/p
SecH+tanB=p
2sec6=1+p Sk
P P

1+ p?
Sec @ =-1P
2p

5
Cos 6 = =2
1+p=

(23)

cosecs A — cots A — 3 cosec? A cot? A

= cosect A — cots A — 3 cosec? A cot? A (cosec® A —
cot’ A)

= (cosec? A — cot? A)?

= (1P =1

(24)

secd-1

| sec A+1

—
(secA-1)¢%
V/ sec® A—1
1

cosd

tan 4 sin
cosd

_ secd-1

(25)

tan A
tan B
tan (2ZA + B)
Also, tan 2A

2%l

tan 24 + tanb

1 —tan2A fanB
2tan A

1—tan?d

_4
T 3

1

tan (2A +B) = 1%

(26)

i it
[I:cotA—ta 1.4 =] = [I' L _tana 'I:|
“Lamn A &
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@7)

|eosec =1 _  cosecd=1

e
W cozec A+1 veosert d=1
1
cosec d=1 _ﬂ..m'l

cotd o A
xin A
l=5im.4
= =sec A —tan A
Cos 4

(sect A—tanz A) — (tan* A + sec A)

= (sect A—tan+ A) —tan: A-secc A

= (sec’ A + tanz A) (secc A —tanz A) — sec: A —
tan: A

=secc A+ tan: A—secc A—tan: A

=0

(29)

tan 45° + %sec 60°
y

(30)

sin® =20/29
cosB=1-sin0
=1-(20/29):
=20/29

(31)
put A=30°

cosec 60° + cot 60° = % +
J |

From option cot A = 30° = 3

(32)

sinA + cos’B + tan’C — 3sinA cosB tanC

G

(33)
For least value, We put 8 = 45°
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=1+ 1+%2 +Y2 +2+2
=7 (40)
cotA

(34) (n+1)
1

(1 +cosﬂ)( L —msf—l) cotB = - :
cos A cos A (2n+1)

(14cos*4) (l-cos®A) . _ cotA.cot B—1
; = (1+cos?4).{ cot(A+B)=———
cos 4 cos A : cot A+cotB
oy 2z n SR
= sin“A + tan ey e
TR o B
(n+1) (2nt+1)
(33) n—{n+1)(2n+1)
2 2, K2 _1\? T(nt1)(zn+1)
cosecA — Sind — SinA — X el cnleln b el LS S
cotA+tanA cosA | sinA cos2 A+sin? n(Z2n+ij+i{n+1)
: sind * cosa TSinAcosA Tintizn+)
=cos’A=1-sm’A _n-2n?-n-2n-1

n

2nl4+n+n+1
(36) _—=(2n*+2n+1)

siné cos A
Cocsoljﬂ 4 smAA S 2n?+2n+1
Bions 32 sinAcosA
sind cos A '1
sin“ A cos“ A 1

cos A(sin A—cos A4) sin A (cos A—sin 4) sinAcosA
sin®A-cos® A 1 41
sinA—cosA (sind—cosA4) sindcos4 (1—=sin A cos A) (sin A + cos A)
_ (sinA-cosA) (sin® 4 +cos *+sin A, cos A) —(sin A—cos 4 =sin A—=sin?A cos A + cos A —sin A cos? A
sin4.cos 4 (sinA-cos 4) =sin A—sin Acos? A + cos A - sin” A cos A
sinA—cosA). (1+sinAcosA-1) T R
. tein o8 Jo'l Tensee ) = sin A[1-cos A]+cosiiA [1-sini? A ]
sinAcos A.(sinA—cos 4) —sin® A + cos® A

=1

(37) (42)
Opposite sides are equal hence option ¢ 1-sin 4

1+sinAd

(38) _ |1-sinA % 1-sind
tan® #—gin? E‘] 14sinAd 1-sinA
| tan® @ sin® @
rsin® 6 . 3
— —sin? @ /tan®@ smzﬁ]
cos~ &
'(sin PP(1-cos®@

cos- &

(1-sin4)? __ 1-sin4
1-sin2A4 cos 4
) Jtan? 8 sin® H] L _ 304 secA—tand

cos A cos A

zin* @ ]

 sin2@xsin’ @

~ 1 (43)

Ly 1z
51N cos<A
(39)(3 200 3y + 200 = Vcosec?A + sec?A
sec(3x - = cosec (3y +

0y = g =V1+ cot? A+ 1+ tan?4
sec(3x - 20%) = sec .
3x - 20° = 90 — 3y -20° =vVtan?4 + cot? A + 2
X +y=30° =y/(tan 4 + cot4)* = tan A + cot A
tan (x +y) = 1/73

(44)
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6

6
sin (3) +0s (2) [* o5 (0 =

\3/2 + \'3/2 =0

(45)

Since is acute angle
& tan —cot =0

. = 450

tan= + cote = tan= (45)° + cotw (45)°

=1+1=2

(46)
sin 360 sec 26 =

sin 36 = se:ZQ
sin 36 = cos 26
sin 36 = sin (90 - 26)
38 =90 - 26
56 = 90
g =18°
Now
56

[3tan2 (7) 1]
[31:an2 ( 0) -1
[3tan? 45° — 1]

3-1

2

(47)

(cosec A + sin A) (cosec A —sin A)
= cosec’ A -sin? A

=1+ cot? A—1+cos’A

= cot? A + cos® A

(48)

;srch (secA+l+secd—1)

\ tan® A4

_ |2secta
- tan® 4

L
V2 cosec A
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(49)
[ cos A sin4 ]2
(1—tan4d) {(1—cotA4)

>

&
cos A sind
- [ sind + cos A
[53)" [gha)
cos A sind
2 P S 2
cos* A sin “ ]"
| (cos A—sin 4) (cosA smAJ
cos” A sin® A ]"

cos A—sin4

[cos A—-sin 4
rcos? A —sin?]?
| cosA+sind ]
(cos A + sin A)?

=1+ sin 2A

(50

2 sin2 cos zi
sinA {s5in28 = 2 sind cos6}

(51

(seremd)
gacd + tan 4

2
( , )
1 Find
cosd * cosd

cse”d 1 - sin”4
1+ zind)® (1+ zird)*
(14 sinAl1—sind) _ (14 sind)

(1+ sina)?* (1—zind)

(52)

(cosec*A — cot?A) — (cot*A + cosec?A)

= cosec‘A - cosec’A — cot:A — cot?A

= cosec’A (cosec’A — 1) — cot’A (1 + cot:A)
= cosec:A cot:A — cot:A cosec’A = 0

(53)
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30 ) 60"
D C B
tan 30° = 20V3/BD
BD =60 m
tan 60 = 20V3/BC
BC=20m
DC=40m
Speed of boat = 40/10
=4 m/ sec
Total time taken to reach light house
=10 + 20/4
=15 sec

(54)
secB

[ sec [
(secB-1) (secB+1)
_ secB(secB+secB+1-1)

- sec?B-1
_2s5ec@

" tanz®
= 2 cosec’ O

(55)

We know,

Sec®A —tan’A = 1

Cubing both sides

= (sec?A —tan?A)® = 1

= sec®A — tan®A — 3sec?A.tan?A(sec?A — tan’A) = 1
= sec®A - tan®A - 3sec’Atan’A = 1

(56)
(cosecA — sinA) (secA — cosA) (tanA + cotA)

ok » 1 sinA cosA
= (— — sznA) ( ——— cosA) ( +
sinA cosA cosA
s ( 1- smEA) ( 1- coszA) ( sin®A + cos®A )
Sin& cosA sinA cosé4

_ cos®A sin®A 1

sind

sind COSA Sind cosA

1

(57)

cos*A - sin*A

= (cos?A)? - (sin?A)?

= (cos?A + sin?A) (cos?A - sin?A)
= cos2A

)
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(61)
tan60° + cosec60°
=3 +2/N3 =513

(62)
A

B

B 15 C
cosecB = 17/8 = h/p

cos58 = b/h = 15/17

(63)

1
cotd5® + = X coseck0®
¥
1
5

2

1
V2

2
+ x e
V3

WS

24
tang = P/R = 7/24

-~ sect = H/B = 25/24

(65)

V2 sec 45° - tan30°
x,E ® -x,-'E & %
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X

(66)
1 o
=— Cosec 30
J

30"

Y Z

cosech = 25/7 =

e~ 2an cos30° = YZ/XZ |
=Y/ =+v3/2 x 9 =9V3/2

(68)

= cot60° - sec 30°
=1/V3-23
=-1\3

(73)

(69)

c \
8 cm
15
30" %gosect = H/P =11/8

B A (74)
AB = 8C05300 sin30° - v2 cos30°
=8 x V3/2 =122 x\3/2 = 1-6/2

=43 cm

(75)

X
(70)

25

B
24 Cos60° = YZ/XZ

cotd = b/p = 24/7 o -
sech = h/b = 25/24 = YZ =943 x ¥ =9+3/2

(76)
(71)

V2 x secd5° + 1/4/3 tan30°
=2 x V2 + 143 x 143
=2+1/3=7/3

(72)
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12
SecB = H/B = 13/12
Sieind = 5113
(80)

Put the value —
1/2 x 2/N3 + V2. 43 = 1/43 + V6 = 1+3V3/43

F
= cosec F x cotD

D) =452
= cosec45° * cot45° = V2 x 1 =

=>F=

(82)

Seco = 25/24

We know the triplet = (7, 24 & 25)
So, sin = 7/25

(83)
Sin30° + cos30° = Y5 + V3/2 = (1+3)/2

(84)
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A

B £
Sec C = Sec 60% =2

(85)
Sin® = 12/13, than cot@ = 5/12

(86)
After putting value = 1 - Zx2=
W3

_ (3—2&)
3

87)
D

30°

E F
= EF = 6V3

Tarigobs s pp— 598 =

DE 2
A a

(88)

Sind = 20/29, secd = 29/21
Triplet, (20,21,29)

20 perpendicular

29 diagonal (height)

21 base

(89)

22+ L= (22

(90)
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(97)
Sec©® = H/B =5/3
~ cosecO =H/P=5/4=1.25

90"
_! (98)
B C sin30° - cose45°

_ o =1/2 -2
BBt = eat 307 = 3 12\

91 (99)
cosec 6 = 25/7 MN/NL = cos45°
We know that MN = 9V2 x 1/2 =9 cm

Triplet = (7, 24, 25)

Cos 8 = (24/25) (100) 5 ”

CosB =— =

(92) H 37
Cot 60° - sec 45° P=VH?—B%Z= 372 — 352 = 12

1 2
o B 35
V3 b o= o= =
3 . P 12
3 V2 Answer Key

V3-342

3

(93)

2ACB = 60°
AB _ . o
o sinG0 :
AB = 10 x‘*‘_;
AB = 5v3 cm

(94)

Cot B = :
perpendicular
. sin@ = 7/25

Base

(95)

Sec 30° + tan 60°
=23 +13
=53

(96)

2P =180° - 90° - 30° = 60°
=~ cot 2P = cot60°

=13

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




